
                                                                                                                                    STAYMAN 

 

 
 

1) 
  V987 
  D5 
  10852 
  932 
 

 
Sud Ouest Nord Est 
  1SA Passe 
 ? 

2) 
  A7 
  V108 
  DV10932 
  R4 
 

 
Sud Ouest Nord Est 
  1SA Passe 
 ? 

3) 
  985 
  RD9 
  D1082 
  D107 
 

 
Sud Ouest Nord Est 
  1SA Passe 
 ? 

4) 
  AV92 
  R1087 
  89 
  D105 
 

 
Sud Ouest Nord Est 
  1SA Passe 
 ? Passe  2 Passe 
 ? 

5) 
  AV92 
  R1087 
  89 
  D105 
 

 
Sud Ouest Nord Est 
  1SA Passe 
 ? Passe  2 Passe 
 ? 

6) 
  102 
  RV87 
  V85 
  A1052 
 

 
Sud Ouest Nord Est 
  1SA Passe 
 ? Passe  2 Passe 
 ? 

7) 
  102 
  RV87 
  V85 
  A1052 
 

 
Sud Ouest Nord Est 
  1SA Passe 
 ? Passe  2 Passe 
 ? 

8) 
  AV872 
  RV98 
  5 
  R95 
 

 
Sud Ouest Nord Est 
  1SA Passe 
 ? Passe  2 Passe 
 ? 

 
 


